CBSE Class 12 Economics Compartment Question Paper 2015 (July 16, Set 3- 58/3)

SET -3

Series : SSO/C' IS . 5 8/ 3
Code No.
AT . q_ﬁwﬁﬁ@ﬁwq&awé@g@%
Roll No. R A [ |

Candidates must write the Code on
the title page of the answer-book.

e FUITIT I [F A WA-TTH Isd TS 8§ ¥ |

o UYH-UF T e &Y I AR T T g =) Hl BT IAL-YRAHT o E&-U< W o1 |
o FUI ST FL A o ST UTA-UT H 29 YT & |

o  FHUYAT U H ST T I B W Uget, I BT ShHIh Ay ford |

o TH UYA-UF hl Ugd & [o1T 15 e o1 99 <91 &1 € | UeH-U51 T foeRor qarA H 10.15 55
feam SRR 1 10.15 &1 @ 10.30 s T BT Shael U9-T3 &l Teil 317 39 a1y & SR o
SL-GRehT TR 3his ST 18] [or@T |

e Please check that this question paper contains 8 printed pages.

¢ (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.
e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i) All questions in both the sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii) Questions No. 1-3 and 15-19 are very short-answer questions carrying 1 mark each.
They are required to be answered in one sentence each.

(iv) Questions No. 4-8 and 20-22 are short-answer questions carrying 3 marks each.
Answers to them should normally not exceed 60 words each.

(v)  Questions No. 9-10 and 23-25 are also short-answer questions carrying 4 marks
each. Answers to them should normally not exceed 70 words each.

(vi) Questions No. 11-14 and 26-29 are long-answer questions carrying 6 marks each.
Answers to them should normally not exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.

gqug — A
SECTION - A
. 3CURA & 4 SHEAN. HL3ATT X AN T 20 € | 5 THEAT I A GRawdt o T 40 € |
S TEHISAT I HT AN TohaAl & 2 (Fel fashed gHu) 1
(a) <20
(b) T 40
(c) <56
(d) <60

The average fixed cost at 4 units of output is I 20. Average variable cost at 5 units of
output 1s < 40. Average cost of producing 5 units 1s : (Choose the correct alternative)

(a) <20
(b) <40
(c) <56
(d) <60
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d 19F9T |
DD' is a demand curve, A and B are two points on it.
Y
D
A
Price

Demand (Units)
Price elasticity of demand at point A 1s : (Choose the correct alternative)
(a) less than elasticity of demand at B.

(b) equal to elasticity of demand at B.

(c) greater than elasticity of demand at B.
(d) less than 1.

3. TETRF % (ol BN o] x Tl 1T HH T & [T GIhR T e 3T Y Gohell & 2 1

What economic measure can the Government take to reduce demand for commodity x
which 1s harmful for health ?

4,  ThEH [0 IR BT i UL Hl UM iU | 3

Describe the problem of ‘for whom to produce’.

5. ‘3TYHAH HiFd THET & 7Y N ATl hi AR HiTST | 3

Explain the meaning and need for ‘maximum price-ceiling’.

6. THR A Fgd ATy T § fasi AR Uenfitn Se = 6 € | S0 SAsd STeT
GIHT (S5h) 9 TTTad &R 2 THeeT | 3

The Government establishes a large number of Institutes ot science and technology.
How will it affect the production possibility frontier ? Explain.
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7. U G 3T dlieTehl i FerdT ¥ e 3ardl o a9 o o= 907 aarey | 3

State with the help of a marginal product schedule the different phases of the Law of
Variable Proportions.

8.  UH WH i 3Gd WU (3TTH) osh U7 WqANTaT & SFerid x-37eT & WHHTY &1 &l & 2
THSET | 3
COEC|

UhThRIcHS TAaInTdT & 3T=iid U ®H 1 3Hd T (3TTH) o5k FONeeh gt arel
1 gl § 2 THERT |

Why 1s average revenue curve of a firm parallel to x-axis under perfect competiton ?
Explain.

OR

Why 1s average revenue curve of a firm negatively sloped under monopolistic
competition ? Explain.

9. U TATHSD IS8T i TErFal § SIFH HiHTd UqwITa= 8T &1 37 THSET | 4
3reraT
Teh 3STEY0T hl WeIAdT 9 BIHHM WA IUANTAT o a9 i ST il |

Explain with the help of a numerical example, the meaning of diminishing marginal
rate of substitution.

OR
Explain the Law of Diminishing Marginal Utility with the help of an example.

10. “HOT HaReEdT 3 HET-AET H URec | o497 37T gldT € 2 GHEeT | 4

Explain the difference between ‘change in demand’ and ‘change 1n quantity demaned’.

1. U o] ol W& ST AR @HH & ITh! Yot SiEd, HRT-AET 3R IId-AE1 0 THEl i
ST ! AR Ush LaTras bt el ¥ ity | 6

Explain with the help of a diagram the chain of effects of a rightward shift in demand
curve of a good on its equilibrium price, quantity demanded and supplied.

fTAfeAad e haer gies= ahentaay o o U9 T 11 F &™&H W E |

T %] o ANT-3TYHR 61 3 FHART | THh Hqoi hiFd 9 WAl bl & Tl ARAT
BT | 6
The tfollowing question 1s for blind candidates only in lieu of Q. No. 11.

Explain the meaning of excess demand of a good. Explain its chain of effects on
equilibrium price.

12. HOT g6 6 S 3N @q & foh=gl a1 0T i AT iy | 6

Explain any three causes of a rightward shift in demand curve.
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13. THCRE Sl Ueh o] i IR gfd U THTe THEATST 6
(i) ANl & SEdl H g
(i) Wfd S T F HAT
AT
ﬁmﬁﬁi@a%aﬁaww
(37) T ATTa 3R 379 uRei arma

@) Hel AN AR H AN
Explain the etfect of the following on market supply of a good :

(1)  Increase 1n input prices
(1) Reduction in per unit tax
OR
State the relationship between :
(a) Marginal cost and average variable cost
(b) Total cost and marginal cost

4. RO Id gU FaTEy b FEATARad 9= Tet & a1 Teld - 6
(i) U o] i 9fd a5k 37T I&I2T ol AT de- I I3 AR E@gehal § |
(i)  3T9d NTd 3R 3T Ed IREcRIeT AnTd &1 37K Tedl R WA g |

Giving reasons, state whether the following statements are true or false :

(1)  The supply curve of a good shitts to the right when prices of other goods rise.
(1) The difference between average cost and average variable cost 1s always

constant.
TUe -9
SECTION - B
15. Tr=fafed o 2 5F 9 e Wit 761 € 2 (Wet [aehed giu) 1

(a) UM i et
(b) o= 3
(c) QraSI-eh ITHT & AT
(d) T H

Which of the following 1s not a revenue receipt ? (Choose the correct alternative).
(a) Recovery of loans

(b)  Foreign grants

(¢) Profits of public enterprises

(d) Wealth tax

16. AR Fehal T STURT I TRMTHT SINT | 1

Define cash reserve ratio.
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17. T31 9 1 999 i R € 2 (Wel [ashed giHu)

18.

19.

20).

58/3

(a) YRd THER

(b) a9 A% e
(C) ST deh

(d) FISHT AT

Who regulates money supply ? (Choose the correct alternative)

(a) Government of India
(b) Reserve Bank of India
(c) Commercial Banks
(d) Planning Commission

[ § 9 i |1 2 € 2 (T8 [aeed gHu)

(a) TH
(b) dHd
(c) T
(d) o™

Which of the following is a stock ? (Choose the correct alternative)
(a) Wealth

(b) Saving
(¢c) Exports
(d) Profits

[HTITEd § | @ |1 W12 °1e 1 Fel °19 § ? (el [aehed gi-0)
(a) ISTohIET BT 3R IS 11 T 3T

(b) TG =S 3 T YA T 3T

(¢) TSTHRME J1 3 S Y 1 3=

(d) USITO-&F 3 ISHE FF 3T

Which of the following 1s a correct measure of primary deficit ?
(Choose the correct alternative)

(a)  Fiscal deficit minus revenue deficit

(b)  Revenue deficit minus interest payments

(¢)  Fiscal deficit minus interest payments

(d) Capital expenditure minus revenue expenditure

et T Y W Y @ A B AR |
AT
YN T o “3TaHed 3R Yoder & o7d IqiEy |
Describe any three sources of demand for foreign exchange.
OR

Give the meanings of ‘devaluation and depreciation’ of domestic currency.
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23.

24.

25.
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Ush AT U W STHNT 500 &, G s=d Yard 0.2 & 311 a9 =99 2,000 € | 390!
GfeTd 3T T e ity |

In an economy autonomous consumption 1s 500, marginal propensity to save 1s 0.2 and
investment expenditure 1s 2000. Calculate its equilibrium level of income.

frfatad 7 9 foge Jod T &1 &1 Tehd ? HROT ST |

(i) 3G F=d wgr

(i) ¥\ S9d U

Which of the following cannot have a negative value ? Give reasons.
(1)  Average propensity to save

(1) Marginal propensity to save

WA 3T @A o =R @A 3 F1e] Wi § A5 i |

Distinguish between trade account and current account of balance of payments
account.

qEel FEg3ll 3R a8 &3NSl GHT JINT | 37 S0 Feadl 9% &l 9ohal & 2 370
3T &% [0 HROT AT |
3rexar

IR fary gRT T 31T &1 Uehet hid 99T S Gl g IR Faul—ar skl s 2

Define intermediate goods and final goods. Can milk be an intermediate good ? Give
reasons for your answer.

OR
What any four precautions should be taken while estimating national income by
production method ?

HRP AN I Fohel o Jig T TR Hiod |

(T TSI H)

(i) <IN TSl 3000
(ii) ieh H/areaH (=) 100
(i)  Fode™ 300
(iv) Tl STHMT 2000
(V) BRI 500
(V1) SYUTET h¥ 250
(vii)  Tae9m 9 Moo SR T (-) 50

Calculate gross value added at factor cost.
(X in crores)

(1) Domestic sales 3000
(11) Change 1n stock (=) 100
(111) Depreciation 300
(1v) Intermediate consumption 2000
(V) Exports 500
(V1) Indirect taxes 250
(vil) Net factor i1ncome from (—) 50
abroad
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26.

8

28.

25,
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Teh IR H TR o33, U Sced 9 3114k & | STIeIae | g+ ol TH uiea-l
! AT iy |

In an economy planned spending 1s greater than planned output. Explain all the
changes that will take place in the economy.

fAfeArEd 3l 9 (1) IR Jod Tl T2 3T (i) Fee T JaeT 3 & I

T -

(1)
(11)
(111)
(1v)
(V)
(V1)
(Vi)
(vi11)
(1X)
(X)

(T TS H)
SATHTST 300
HHTTAT hT IR 3000
ToRTaT 500
I (odeTd) 200
S 300
Tt =l eIt R 31 100
Hd 3 5000
eIeT 3TITRT Y 400
A 1500
TaRST ol et aTe] SXaRoT (=) 50

4, 2

From the following data calculate (1) Gross national product at market price and
(11) Net national disposable income :

(1)
(11)
(111)
(1v)
(V)
(V1)
(V11)
(Vi)
(1x)
(X)

(T in crores)

Dividends 300
Compensation of employees 3000
Rent 500
Depreciation 200
Interest 800
Net factor income to abroad 100
Mixed inCome 5000
Net indirect-taxes 400
Profit 1500
Net current transfers to abroad (—) 50

THI Howmen & TUse &5 ° a9 o & o0 S5 Uicded <3 &1 [Huig shedt & | 39
S TIcHTEAT ol ST HITT 37T T2 o & HRUT IdeU |

The Government decides to give budgetary incentives to investors for making
investments 1n backward regions. Explain these possible incentives and the reasons for
the same.

3T o T2l &1 ST ahl SRS SIS |
3rerat
$S T o & [hel & & H1al I AT HIT |

Explain any two functions of money.

OR

Explain any two main functions of Central Bank.
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